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6=0
Cro=Cs0=0

dCpy/dt
dCr/dt
dCs/dt

-kiCa mol/ | min

a

IR

Is
Cs=Cao—Ca-Cg

koCr mol/ | min

#include <stdio.h>
#include <math.h>

k]_CA - kZCR mol/ | min

A,R,S Ca,Cr,Cs

k,=0.05
k,=0.005

int main(void){
double h; 3\
double k1,k2;
double t, tO;

double

double CA, CAO;

double CR, CRO; >
double CS, CSO;
double CS2;

int i; Y,

—

i=0; 3
t0=0.0;
k1=0.05;
k2=0.005;

oC )
Better

CA0=4.0; g

CR0=0.0;
€S0=0.0;
€S2=0.0; )

scanf

%I
scanf("%IF", &h): ’

printf

printf(""Please Input H="); }

printf( 1, t, CA, CR, cs,

t=t0;

CS2¥n™);

MAC e

CA=CAO;

LABEL :

—1

printf(C’ %d,  %f,  %F, %F, %F,

i=i+l;

%f¥n", i, t, CA, CR, CS, CS2);

t=t+h;

CA=CA+h*(-k1*CA); "
CR=CR+h*(k1*CA-k2*CR) ;
CS=CS+h*(k2*CR);

CS2=CAO-CA-CR;
if (t <= 200)

goto LABEL;




}

; 5 T

X return(0); g, |
£
O
3

>> <<

16
[ ] A+B-R
r=k-C%.CL°> [kmol/(m® min)] k=7.45x10"
Cpo=2.0 kmol/m® Cgy=5.0 kmol/m® Cgo=0.0
A Xa=0.8 0
XA XA
XA
Xa=0.8 0
25.9 min
>> <<
(A) (B) P=101.3kPa
YA VB
Iny, =(0.8517-0.7738-x,) - (1 - xA)2 In Pf =17.5977-4383.0/T
Iny, =(0.4648+0.7738-(1—x,))- xA2 In PB° =18.1621-5054.0/T
337.7K 373.2K

pA:yA'szA'PAO'XA
pB:YB'PZ(]-_YA)'P:7B'PE?'XBZVB'PBO'(]-_XA)




